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Q.1. Choose the best answers:
I.     
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II. 
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III. Conversion of sulfur dioxide (SO2) to sulfur trioxide (SO3) is basically
A. reversible reaction
B. irreversible reaction
C. dynamic reaction
D. static reaction
IV. Sulfuric acid (H2SO4) is used in
A. tanning leather
B. pickling
C. car batteries
D. all of themAnswer D
V. Excellent equilibrium yield of SO3 at 450 °C is
A. 10%
B. 20%
C. 79%
D. 97%
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Sulphur dioxide is used in the Contact process to make sulphuric acid.
Describe the conditions and name the catalyst in the Contact process. @
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Dilute sulphuric acid reacts with magnesium to give hydrogen.
Give the ionic equation for this reaction.
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In the Contact process for making sulphuric acid, one step involves the oxidation of sulphur
dioxide as shown below.

2504(9) + Ox(g) = 2S04(0)
‘The forward reaction is exothermic.
Which change would increase the amount of sulphur trioxide produced at equilibrium?

A increasing the temperature
B decreasing the temperature
€ decreasing the pressure
D adding a catalyst
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‘Which of the following occurs in the Contact process?

A

B
c
D

Sulphur dioxide is dissolved in water.

Sulphur trioxide is dissolved in water.

Sulphur dioxide is dissolved in dilute sulphuric acid
Sulphur trioxide is dissolved in concentrated sulphuric acid.
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